MODEL QUESTIONS
FOR
MARTIC EXAMINATION-2016(ANNUAL)
SUBJECT-SCIENCE

SET-I
PHYSICS

1. U & YA & fhe fm € ? 01
How many laws are for refraction of light ?

2. T @I AT FISI AHAG T8 2 01
What is the S.1. unit for power of lens ?

3. B Y o H q(dd U9 MR SFI YHR HT URifdw aa1 & 2 01
In which lens real and virtual images are formed ?

4, M & e ¥ fodaar w9 oFRR & ? 01
What is constant in ohm’s law ?

5. fdgd aRT SIS HES 18 7 01
What is the S.1. unit of electric current ?

6. I | Bl YBRT & U Bl (R0l NG Wi | 02
Draw Ray diagram of refraction of light through prism

7. VN 31 I Sidl & W ford = g Fdexeiid A B | 02

Name two energy sources which you conS|d_er to be reneable.
8. gftc Y T8 ? g fobe YHR & B & AT SHSI AR S {1 SIrefm & ? 03

What is defect of vision ? Name the type of vision defects. How it can be cured ?

9. FHFIR Aol # AT <l Uikl ol ged UieRTer gy | 03
Calculate the equivalent resistance of two resistors connected in parallel.
10. 39 & M @I ford | THIeR 14 diecHiey gRT 59 oM @) Ot | 05

State ohm'’s law. verify it with the help of Ammeter and volt meter.
CHEMISTRY
11, T fohdl FEdl & °

What is ductility ?
12. 3T fodt @ed € ?
What is an ion ?
13. I G ATRAZS FT U SRR G |
Give an example of amphotric oxide.
14. UHIg Uethlgel &l AT A for |
Write down the struetural formula of ethyl alcohol.
15. FEARIBH & LU.PAC. M ford |
Write down I.U.P.A.C. name of chloroform.
16. | THIBRYT AT & ? Wfold THIGRY HT U STl < |
What is balance equation ? give an example of balance equation.
17. 3RS WS 6 ded © ? AAMS IS $T T ISR < |

What is ionic compound ? give an example of an ionic compound.

18. feraafetRad Afepl o1 ARe T G ford |
(0) PINIE| (i) gﬂa_rhq (iii) TS o |

Write down the structural formula of the following compound.
()Propene (ii) Butanone (iii)ethanoic acid

19. AIET & a3l B SN0 I a1 oIl & 2
Why iron object is galumatmised ?

20. fbugT fopd Ped 2 ? fohvae fafdy & vergel Uoblgel @r AT & fahar ofrr & 2

What is fermantation ? How ethyal alcohol is manufactured by drmuntation process.
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BIOLOGY

21. A9 H g HIF A AT 8 ? 3D Fblg Bl AT Ed © ¢ 01
Kidney is the what organ of human ? what is the unit of it ?

22. DNA &1 fa%gd 9™ ford ? 01
Expanded from of D.N. A.

23. fea™ {1 UBR &1 a9+ € ? 01
Fornation is in which type of respiration ?

24. NG 9% & {69 9N H YHII HeelwoT B fohar el & ? 01
In which part of chloroplast do photosynthesis take place ?

25. /9 H 9891 OF & °Ch D A § 01
what are the components of transport system in human being ?

26. YebTS HITUT ¥ MY T G & 7 FHIGRU § 2 02

What do you mean by photosynthesis ? give equation.
27. 7D B MG ¥ A Sival # I U oA @ A AT @m§ 2 02

What are the different routes to get energy by oxidation of glucose in different living
beings ?

28. TP T B THI3 S R el & ? SAB] AHiTcbel (o G712 03
What is the unit of nervous system ? Draw a well labeled diagram ?

29, TR 43 G99 & feIq ol afedl # B ¥ URacH off Jad § ° 03
What change can you bring in your habites to become more environment friendly ?

30. U WR ®IT 8 ? U AR FGell §RT GHed ? 05
What is tropic level ? Explain with food chain ?

SdT

A9q <Y Bl AMifhd ford 91 ?

Draw a well laveled diagram of human heart

PHYSICS OBJECTIVE
31. (i) Preufie ufafem grar 8 ? 01
(a) rem (b) Beer
() @ 3R (b) AT (d) T DIz T

Virtual image will be

(a) Erect (b) Inverted
(c)Both (a) and (b) (d)None of these

(ii) STace o7 BT ML (m) SRR BT 8 01
(@ — (byuv
(u+v (d)—

Magnification (m) of concave lens is equal to

(@ — (byuv
(u+v (d)—

(iii) FrafeiRed & & d1F |1 U fagd @fed @1 (wiud T8l oxa @ 01
@) I2R (b) IR2
(vl (d)V2/R
which one of the following does not represent electric power
(b) I2R (b) IR2
(vl (d)V&/R
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(iv) U faeg SIey @) Hsoll BT UCR™ 550hm @ & 220V & TId W o dlell fagd

¢TRT BT A BT | 01
(a) 4 TR (b) 40 TR
(c) 25 TfgER (d) 25 TRRR

A coil of registance 55 Q in an electric heater when connected to 220V source will
consume how much electric current ?

(a) 4amp (b) 40 amp
(c)2.5amp (d)25 amp

(v) fFr=feiRad & ®F Sia S Soll S BT IRV el & ° 01
(a) TTdS! (b) TR

(c) e it (d) FraT

Which of the following is not an example of a biomass energy source ?

(a) Wood (b) Gobar gas
(c)Nuclear energy (d) Coal
(vi) 91 ¥ | B9 a1g ATeAd TRl B ? 01
(a) Raferaet (b) STfTIH
(c) T () 57 & P
Which of the following is not a semi conducter ?
(@) silicon (b) Germanium
(c)Mercury (d) None of these
(vii) fag geq 1 g 1 EIeT & 01
(a) TS @ (b) ifaT @

(c) TR @ (d) CegfAfrm

The filament of electric bulb is made up of

(a) Iron (b) Copper
(c)Tungsten (d) Aluminium
CHEMISTRY
31. (viii) IR FARES &1 T Hal eiar 8 ? 01
(a) (b) dierm
(c) oret (d) reT
What is the colour of silver chloride ?
(b) White (b)Yellow
((_:)Red (d)Black _
(ix) 9fHT UTSeR @1 3ifdae I T ? 01
What is the molecular formula of baking powder ?
(x) ST T o] | R F ? 01
(a) CHs (b) C2H4
(c)CeHe (d) C2Hs
which one of the molecular formula of Benzene
(b) CHa (b) C2Ha
(C)CeH({;\ . (d) CgHe
(xi) Y& AT foeT @ve @ Bial § ? 01
(a) 24 DY (b) 18 e
(c) 20 axe (d) 22 @ve
What is the mumber of caret of pure gold.
(a) 24 Caret (b) 18 Caret
(c)20 Caret (d) 22 Caret
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(xii) EferM 9 BT TS ATERV ol TG © 7 01
(a) @y (b) Wb i
(O SeRiF i (q) e

What is the chemical nature of helium gas ?

(a) Inertgas (b) Active gas
(c)Neutral gas (d) Active gas
(xiii) et Rl # et @ e fade € ? 01

@7 ()6

)9 (d) 10

How many periods are in perodictable ?
@7 ()6
()9 (d) 10

(xiv) ST & TS 3] ¥ STESIOM Ud ATFIIT & YA BT AU R § 7 01
(@) 1:1 (b) 2:1
(c) 31 (d) 2:2
What is the ratio of no. of atoms hydrorin and oxygen in a molecule of water
(@) 1:1 (b) 2:1
(c) 31 (d) 2:2

Biology
31. (xv) Her TiRReife 3 # s SuHie § 7 01
(@) &1 Ui (@) Hed
() a1 2w (&)
Third Consumer is in grassland eco system ?
(a) Green Plant (b)Frog
(c)Grass h(_)pper _ (d)Snakg _
(xvi) f=ferRad & B9 «iffie = FamRa T 8 ? 01
(@) v (@) e
(M) cRWITS (@) @ 3R @ I
Which of the following is sexually transmitted discase. ?
(a) Aids (b)Gonorrhea
(c)_Typhoid _(d)Both A&B _
(xvii) ST febster GIRT SFIAT ¥ WIS BT 31 T30 Bl & ? 01
() P (@) oRae
(M) AoF T (6) s
In which organ helps in injection in Amaeba ?
(a) Pseudopadia (b)Transport
(c)Food Vae_uloe (d)_NucIeus _
(xviii) R IS T4 HGT S Heldd I bed © ° 01
(@) fosaT (@) Frvar
() SfegRoT (sr)oRmToT
Fusion of male gamete and female gamete is ecllect ?
(a) formation (b)fertiligation
_ (c)germination (d)pollination _ _
(xix) ST I G dTell HER [ TRE B Sl § &l & 01
(@) A% ST (@) =1 T
() @RI ST (®) 95 9
Dengue discase eworier mosqueto lives in.
(a) Fresh water (b)Dirty water
(c)Hard water (d)Soft water
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(xx) ATE §ST &7 ST Y 3G & T ? 01
(@) 120 mm hg (&) 150 mm hg
() 90 mm hg150 mm hg (=) S’ﬂ'ﬁf kil ﬁé T8l

The Guerge diastole prussure of human heart is approximately.
(&) 120 mm hg (b) 150 mm hg

(c) 150 mm hg (d)None of these
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MODEL QUESTIONS
FOR
MARTIC EXAMINATION-2016(ANNUAL)
SUBJECT-SCIENCE

SET-II
PHYSICS

I UV & U SYANT Bl ford | 01

Write down one of the use of convex mirror.
2. W g @1 =FaW 3 BT AF T e g € 2

What is approximate value for least distance of dis tinct vision ? 01
3. Udh o @I &AdI-5D 8 | I8 b JBR I o 8 ?

The power of a lens is-5D. what type of lens is it ? 01
4. fagd afed &1 s1. 9SG 1 BT © °

What is S.I. unit of electric power ? 01
5. fa ORT & U WG B TH ford |

Name one source of direct current. 01
6. TG Horde @7 & ?

What is nuclear fusion ? 02
7. [9Ed 99 @1 THifdd 77 TR |

Draw a lebelled diagram of an electric bulb. 02
8. UHRI & qul faeTr | MY HT A © ? FRUIY I AT N |

What do you mean by dispersion of light ? Explain the rainbow. 03
9. Udh URAINCTHI &1 g THlfd o 418y | 03

Draw a neat and well labelled diagram of a solenoid.
10. 20 HOHI0 BIHW X & I o & A qg Pel & 9 fdb I IR oI

3mafdd ufafes & ?

At What distance should an object be placed from a convex lens of focal distance 20 cm

so that its four times enlanged image may be obtained. 05
CHEMISTRY

1. foe afdfpar oiat ors &1 g3 @1 8 ? 01
What is the formula of ketonic functional group ?

12, fa<sids 901 1 o] G ford | 01
Write the molecular formula of bleaching powder.

13. I MMt H Ho dqcdl DI A R & ? 01
What is the number of elements in third period of perodic table?

14, forferRed FHiaxor a1 Hferd dv— 01

15.

16.

17.

18.

Fe203+Al —» Fl203+Fe
Balance the following equation:-
Fe203+Al —» Fl203+Fe

TS Uehlgd &l Axa G ford— 01
Write the structural formula of ethyl alcohol.

UG @ MR & faRiTieRy @ ford | 02
Write the anamolies of the mendeleev’s peroidic table.

RCR 3 UNH BT 3AMM0adh J3 [oRd | SHHT SUHIT &1 8 ? 02

Write the molecular formula of plaster of peris. what are its uses ?

TATeRgT ¥ AN 1 99 &7 fafer vd IRe @ W1 39dT S D
sifaferar @1 ford ? 03

Write down the laboratory method of prepration of methane and its chemical reaction
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19, ForifeiRed drafen AT BT Ge G ford | 03
(i) ST (i) SUAISE ol (iii) -2 (iv)THICH (v) T

Write down the structural formula of the following organic compound.
()Propone (ii) Ethanoic acid (iii)Butene -2 (iv)Acetone (v) Ethene

20. IS AT BT GG Td F9UAIG I2a BIdl & I 2 05
Melting points & boiling point of lonic compound is high ? why ?

BIOLOGY

21. 96 BT A USR] T ? 01
What is the intermediate Product of Respiration ?

22, 799 ® A & UEH § B THA Fed § 7 01
While Harmone assits in digestion of Sugar in human ?

23." &1 ARG 3T WS e Geiep feow forell & 2 01
Who write the “ Orgein of Species” ?

24,97 B PIRTHN H ORI BT G AT 8 ? 01
How many Chromosomes are Present in human Cell ?

25, "SR & TG B & ? 01

Who is the Father of Genetics ?

26. Wi M@ @1 & ? T RGA & Al WRI IR Slfdd JAae o1 yd1d e gra
22 @ 02
What is biological magnification ? is effect of Biological magnification different in the
different layers of ecology ? Why?

27. %1% %] Folld & THHN MRV &R & foly & [ AUGS BT SUINT I/ § 7 02

What Creteria do we use to decide Whether something is alive ?

28, FHGII &ofl &7 & ? SB1eRYl & 9 ford | 03
What is an homologous Series ? Explain with Example.

29,0l H YHIY HLCAYT B fohaT Bl i 39 ? 03
Show Photosynthesis in Plants with the help of aneat diagram?

0.9 WYYl RT & ? 39 Ulsha # 119 o Bl & 2 05
What is Photosynthesis ? Oz gas realessed during Photosynthesis. Explain with suitable
diagram.

3T

STfee & fddrgare & RIgra & arar & ?

Explain the Darwinism ?
PHYSICS Objective

(31) (i) fordlY fdfg b1 areaifas wfifdw FHM SMHR &1 UK FRA o, 9] Bl S ol b
A FEl 01
(@) ®IH¥ W (@) el B W
(M) oFd W (@) YO dw W)
Where should an object be placed in front of a Convex lens to get real image of its equal
size ?
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(a) At focus (b) At centre of curvature

(C) Atinfinity (d) At optical centre
(ii) U Srade IUU B BIHH T 10 THI0 8 AT ITD! Iehell o7 BT ? 01
(®) 10 =0 (@) 20 w0
() 5 0 (@) 40 0
The focal length of a concave mirror is 10 cm then its radins of curvature will be ?
(@) 10cm (b) 20cm
(C) 5cm (d)40 cm
(iii) g v, fae 91 & e yo1a W BRI IRl & ° 01
(@) SH (@) =@

(m) <t (@) 3 31 T
Electric fuse works on ?

(a) Heating effect of current (b) Magnetic effect of current
(C) Chemical effect of current (d) None of these

(iv) T& Hdid a9 o Uil | §ar © ? 01
(@) 16 x 10 (@) 1.6 x 10%
(M) 6.25x 10 (&) 6.25x 1078
One Coulomb electric charge equals to how many number of protons ?
@) 1.6 x 10™ (b) 16 x 10*
(C) 6.25x 10 (d) 6.25x 10
(v) @R I JTd FR TG AARD 7 ° 01

(@) feferam (@) pIfRE
(m) Txfre (&) ey

For producing nuclear energy which of the following is necessary ?

(@) Helium (b) Cromium
(C) uranium (d) Aluminium
(vi) @es fmafoRad & 1 fo a9 W e g ? 01
(®) 2500°c (@) 3000°c
(1) 3500°c (&) 4000°c
On which of the following temperature tungsten melts ?
(@) 2500°c (b) 3000°c
(c) 3500°c (d) 4000°c
(vii)Siiares €6 @1 I BT aRafad AT & 2 01
(®) TH®E Fed (@) F=d
() < @) T @ e

The actual source of energy of fossil fuel is
(a) Nuclear fusion (b) The moon

(C) Thesun (d) None of these
CHEMISTRY
31.(viii TR cacog ST Ca0(S)+CO, fbd TBR el SAfAfeha & 2 01

(@) fagmm (@) <
(1) W (@) wferemy=
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The reaction CaCos heat CaO(S) CO2(g) is what type of reaction ?

(a) Dissoliation (b) Combination
(C) Reverssible (d) Subtitution
(i) amedIsT 19 & T 319 & <l WA @ §ra e ee © ? 01
(®) 1 (@) 2
(m 3 (m 3
How many bonds are found between two atoms of oxygen in a molecule of
oxygen ?
@) 1 b) 2
) 3 d) 3
(X) & =TT BT PH HTF fbeT 81T © 2 01
(@) 799 (@) 79 e
(M) 3% @4 (@) 5% @
How much is the PH value of basic solution ?
(a) less than 7 (b) more than 7
(C) lessthan 3 (d) less than 5
(xi) DI AT ST FR B AU TR 59 7w H Bl § ? 01
(®) ame (m oM
(M AR (M) oA
Which non metal is in liquid state at room temprature ?
(a) Bromine (b) lodine
(C) chlorine (d) oxygen
(xii) TUICTCN & U o] H &1 BT & dia Al Bl G el g ? 01
() 1 (@) 2
(m) 3 (&) 4
How many bonds are present between two corbonatoms in a molecule of acetylene
gas ?
@)1 (b) 2
©) s (d) 4
(xiii) FrafeiRaa AT § HIF—H1 WHICH BTESIDET & ° 01
(@) oo (@) fiem
(M =t (&)
Which compound is Aramatic organic compound hydrocarbon ?
(@) Benzene (b) Methane
(C) Butane (d) Propane
(Xiv) oTel T el TR el ars Yaifed &= | dIe a1 e aoam © 2 01
(®) Feo (@) Fes
(Tr) Fe,03 (Ef) Fe (OH)3
Which compound is formed when steam is flowed on Red hot Iron ?
(@) reo (b) Fes
(C) Fe,03 (d) Fe (OH)3
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Biology

31. (xv) wat ¥ TR oI 3fT B € ?

(@) Jow (@) sfeq
() afcieprar (e)afdiam
In flower, male reproductive organ is?
(a)stamen (b)earpul
(c)stigma (d)style

(xvi) afver ffoa g € ?
(@) AT | (@) Tl |

(1) Wit aferar  (8) SRy |

Ovum is fertilized in.

(a)vagina (b)uterus
(c)follopain tube (d)ovary

(xvii) FfoRad # & &9 16 Iferfl g & ?
(@) @ (@) 7oe!
(M) =R (&) 939
Which one of the following is a bisexual animal.
(a)Earth worm (b)Fish
(c)Lion (d)Goat

(xviii) feferiad % & B Tb YT el BT SR & ?
(@) T () e
(m) arerma ()=
Which one of the following is an example of underground water ?
(a)River (b)well
(c)Tank (d)Sea

(Xix) T BT TgT i YBR @ Ao € 2
() ST (@) Far™
() SueR (&) feemu
What type of reaction is the digestion of food.
(a)oxidation (b)combination
(c)reduction (d)Displacement

(xx) < TS PIRMGT T 7T Wletl I $ B & 2
(@) sfHer (@) Ry
() TR (2) ST
The Gap between two neurons is called.
(a)dendrite (b)synapse
(c)axon (d)Empulse
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MODEL QUESTIONS
FOR
MARTIC EXAMINATION-2016(ANNUAL)
SUBJECT-SCIENCE

SET-III

PHYSICS

10.

gl T4V B Ueb SUIIT ford |

Write down one of the use of concave mirror. 01
YHT & WG @ fba (99 § ?

How many laws are for reflection of light ? 01
THRR—&s & Gaded Wifda JIRT &7 M ford |

Write down name of the physical quantity equivalent to ampere-second. 01
fOed S &1 ATTAIS A=HG R0 E 7

What is commercial unit of electrical energy ? 01
TRATY] 99 {69 QIfAfem o= omemiRa @ 2

Atom Bomb is based on which reaction ? 01
Tf¥ads favems & amy 7 wwerd & ?

What do you mean by lateral displacement ? 02
30T SU T & ?

What is good fuel ? 02
foreft o aRuer # STguer & oy @ wwewd € ?

What do you mean by short circuiting in an electrical circuit ?

ﬁ?ﬁmﬁswéﬂaquWQﬂwaﬁaﬁmmiﬁmﬁwﬁmm

GEA D A ?
How will you distinguish a given convex lens, concave lens and a cercular disc of glass
without touching its surface ?

YRIATE] ATd & Sa— ﬁﬁfgﬂmlu%ﬂswﬂ%ﬁmﬁlwﬁ‘@ﬁiﬁmmzﬁ
AT I A0 |

Describe Oersted experiment to show the magnetic field produced around a current

carrying wire. 05
CHEMISTRY

1. Yedhls &1 G 3 ford | 01
Write down the general formula of Alkyne.

12. ® & el BT ARG ford | 01
Write down the molecular formula of washing powder.

13. U VY €T &1 9 o ol $™R & AU W 59 37awel 3 &l | 01
Write down the name of a metal which is liquid at Room temprature.

14, IR MEAISH | HINT AT T BT & 7 01
What happen when magmesium combined with oxygen ?

15. H4T & 3T Y hT M ford | 01
Write down the name of two allotropes of Carbon.

16. VICRATIS SAFAISHAT T & ? TITERY & I WL P | 02
What is substitution reaction ? Explain with example.

17. QTS &1 AR G [oRd (98 Wl 4§ fbd YhR 17 Il 8 2 02

Write down the structural formula of ethyne. How this is prepared in laboratery.
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18. GIIoT AT 3RRD H AT IR & ? oleT & VP 3RS &1 919 ford | 03
What is the diffrence between miniral and ore ? Write down the name of an ore of iron.

19. QIISTA BT WA FAT ford U AEIH BT geldg™ favg qRa ford | 03
What is the atomig numk?er of sodium ?_Write down the electron dot formula of sodium.
20. frfeRad ATt &1 GXaT g3 fored | 05
(@) wileafeess (@) TR
(m) e (5) Smgl e (3) T St

Write down the structual formula of the following compound.
(a) Acetal dehyde (b)Chloroform

(c)Butane (d)Iso butane (e)Acetic acid
BIOLOGY

21. WY fd gl € ? 01
What is Pollination.

22. HIV 3R AIDS &7 0 %9 ¢ | 01
Write the full forms of HIV & AIDS.

23, RIA FT TG AT 3 a1 | 01
Draw a neat labelled diagram of chromosome.

24X <19 fbwe gR1 A 2 g ? 01
Blood pressure controls by which .

25 % U # {59 gcd & 1T H YahreT HEClyOr W el & | 01
The diffrency of wich component restricts photosyanthis is in green plant.

26. SR UIFRIT | TAIfAT & dTel Xl &1 A o | 02
Write the enzymes secreted by gastrie glands.

27. 999 3R T8 H 3 3R ford | 02
Write two differences between respiration and combustion.

28. 3IAT ¥ U7 @7 gishar @l R Ay wHe ? 03
Explain nutrition in amoeba with diagram.

29.RTIV fo¥ Fgd € ? 97 B TR RIT Y419 Tl © ? 03
Define pollination describe the effuel of rain full on pollination.

30. 9B (THT) DI T BT G0 9N | 05
Explain the machanism and ultra structure of nephron.

3T

3 T € ? I8 fodl TRd @l fod YR ydifdd axar 2|

What is ozone ? Which effect of any ecosystem ? How.

PHYSICS Objective
31. (i) YbRT & WacH & 199 g | 01
(@) 1 (@) 3
(m) 2 (@) 4
The laws of reflections are.
@) 1 b) 3
) 2 (d) 4
(if) 1 % 19 A1 vered o & fofy, ygad 81 fohar o |ebel § ? 01
(®) @) @
(M yeRe® (@) Mg
Which one of the following materials can not be used to make a lens ?
(@) water (b) glass
(C) plastic (d) clay
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(iii) forlY TTete & BRI @ §ra1 favaicR v, IR R TG Ya1fd o1 1 % 19 |aer &1 01

(@) 1=R/V @) RrR=1v
@M RrR=v/I (@) T ¥ P13 T
The relation among potential difference V, resistance R and the flowing current I is.
(@) 1=- (b) r=-
C) rR=- (d) None of these

(iv) 3R w_i ¥ S fagd sy 9 Ol & 98 01
@ 20vRREarT &l @) 12v R e a1 €|
(M) 220V W YIERI ORI F|(8) 12 v IR Y@ 9T 3 |
The electric supply in our domestic use is
(@) p.ccurrentat 220 v (b) b.ccurrentat12v
(C) ACCurrentat220V (d) Accurrentat12v

(v) 7@ a1 & foru IoRerl 9 © 01
(@) 02 (&) NH3
(M) co, ®) N
Which gas os responsible for global warming.
@) oz (b) NH3
(C) co. (d) N2

(i)t ag @1 ufafer offg & T 91T W 99T 8, 98 @ 01
(®) wiffar (@) e
(M) gl () ameRa
The part of eye where image is formed is
(@) cornea (b) Retina
(C) Pupil (d) 1ris

(vii)1 fopeliare ger A % 3 forae aRTaR & 2 01
(®) 36x10° ST (@) 1.6x10 " el
(M) 36x10° S (€) 3 @ BIE
Which of the following equals to 1 kw. hr.
(@) 36x10" soule (D) 1.6x10 " Joule
() 36%10° Joule (d) None of these

CHEMISTRY

31.(viii)-0-H foraTeliet qor o1 M @ § ? 01
(®) foeH (@) tfeserRs
() Tewledt (@) 3 & oI Tl
What is the name of —O-H functional group.
(@) Ketone (b) Aldehyde
(C) Alcohol (d) None of these

(ix) Raferar @ g ? 01
(@) g (@) a1y

() S &g (8) 374 W P TE

What is silica ?
@) Metal (b) non metal
d

(C) Metalloid (d) None of these
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() ammaxt AR # afreRit @ Gt foha & ? 01
(®) 7 (@) 4

@ s (=) 10
How many periods are there in periodic table ?
@ 7 (b) 4
) 5 (d) 10
(xi) fFafoRad & o= w1 aaor g ? 01
(®) Hel (&) NaoH
() NH40H (8) K2 504
Which of the following is salt ?
(a) Hcl (b) NaoH
(C) NHsoH (d) K2s04
(xii) TrEEIoM & Ud 3] H &1 GRATYI & diel feber afre & ? 01
(@) 1 @) s
M 3 (@) 4

What is the number of bonds between two atoms of nitrogen in a molecule of nitrogen ?

@) 1 b) s

) s d) 4
(xiii) SRR &1 MG 9T /I E ? 01
(@) cacCos (@) MgcCos
(M) ca(HCO3)2 (&) Nacl
What is the chemical formula of marble ?
(@) cacos (b) mgcos

(C) ca(HCO3)2 (d) Nacl
(Xiv) SATZS Tedlgd &1 ARG Ide b I fohar gRT fhar S g 2 o1
(@) fooad (@) ST
BCEER (@) 39 3l T
Commercially Ethyl alcohol is prepare by which chemical method ?
(@) fermentation (b) Oxidation

(C) Reduction (d) None of these

Biology

(xv)fifna ® & oy Qg SuwraT &1 soft | ISR ? 01
(@) a0 e (@) et &Ra et

(M) SHTell SR (9) Ht IR U

Which the following will you put in consumar elase

(a) Green Plants (b)Blue green alge
(b) wild animals (d)flower & leaf

(xvi) wa # Srafafm el € ? 01
(@) TP (@) Rt

(m) ArEcreidgar () ¥ @ D T
Which is the bag of dialysis in man ?
(a) Nephron (b)Neuron

(c)Mitochondria (d)None of these
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(xvii) gef ol & @i S forTa gwT BT € 2 01

() e g (|) it grr
In fowering plat sexual reproduction is done by
(a)Leaves (b) Stem
(c)Flower (d) Seed
(xviil)f=1 § | B9 TP Wifdd YH gRT SRR & arer ueref § ? 01
(@) o (@) dfened | &1
RRER (8) wiiRcad

Which of the following is Bio-digramable substance ?
(a)Dried grass leaves (b)Polythin bag

(c)Rubber (d)plastic
(xix) ®a® # T B B fafy g ? 01
() st (@) 7 il
() EHISH (@) 3™ 4 I3 T
What mode of nutrition is found in fungle ?
(a)Auto trophic (b)Saprophytic
(c)Holozole (d)None of these
(xx) 9 wreg fopetl R foham € 2 01
(@) Hed (@) sifdw
() S (&) oD
Who propossed the word gene ?
(a)Mendal (b) Darwin
(c) johnson (d)Lamark

https://www.evidyarthi.in/



MODEL QUESTION
FOR
MATRIC EXAMINATION - 2016 (ANNUAL)
SUBJECT-SCIENCE

SET-IV
Physics

1. 59 yoR & o # Rim el ufafesy gear 22 01
In which type of lens only virtual images are formed ?

2. o9 avf & g & IR AfdrdaH B 8? 01
Which colour of light has the longest wave length?

3. TP o @ & + 2 D 8| TE o (6 TSR T 87 01
The power of alensis+ 2 D. What type of lens is it ?

4, fae 99 @1 fven A 5 ong &1 & B @7 01
The Filament of electric bulb is made of which element?

5. 91 W BT Y& HCH R 87 01
What is main component of bio-gas ?

6. Xd & RFel B UG el T BT & A Bt 27 02
Why the signal of railway is of red colour ?

7. TR fodeT sififear @ 8? 02
What is nuclear fission ?

8. TIfc AW AN TH R A & folY [9 ol FT AeR fHar o & 2 03
What is hypermetropia? Which lens is used as its remely?

9. i uA 1 87 ISTERVI Aied fordd | 03

What are fossil fuels? Write with example.
10. #rofl &8 ¥ |G 09 faft A9 & URRiel & wged Uhove & forg &9ia ora a8 05

Find expression for equivalent resistance of three different value resistances
grouped in series?

Chemistry

11, SR (1) Fewhe o Agd g3 fored | 01
Write down the mole cular formula of copper (1) sulphate.

12. Wi &1 WRa g fored | 01
Write down the structure formula of Ethene.

13. TYMIH o1 & U 3R BT 419 U4 Mfvad g ford | 01
Write down the name and molecular formula of an ore of aluminium?

14. RIS ad ARV & ot ammad # & 01
Oxygen is present in which period of peroidic table.

15, UICRRM &1 WA FeEr fod B 01
What is the atomic number of Potassium.

16. PH @ €| STRIF AT &1 PH fhaT &1am B 02
What is PH? What is the PH of neutral compound?

17. 9% HIT &7 o qad b1 ¥ ford | 02
What is Indicator? Write down the name of an Indicator.

18. AT A7 @ 8| U ISR & A1 WE Y | 03

What is Homologous series? clearify this with a suitable example.
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19. f=feiRad dcal &1 gelagiive fa=ar fore | 03
(1) AfeT (2) i (3) TN
Write down the electronic configuration of the following element
(1) Sodium (2) Calcium (3) Chlorine

20. VAR a1g 1 FSpyer S fhar S ¢ | 05

How alumunium metal is extaracted?

Biology

21. sl oo iy & A fora o uferal g1 &R weers g 22 01
Write the name of plant which has vegetative propagtion takes place by leaf?

22. W9 IRR ¥ T qE1 IR @ 27 01
What is the largest gland of human body?

23. WUSA & YANT Ud HHR bRVl A YTl FHEO] Td FHGlT STJuT T 87 01
What is this Phenotypic and genotypic ration of monohybrid gass of mendal?

24, 390 o fAfr sraual &1 T fora? 01
Write this following components of blood?

25. TR oy @gd &? 01
What is Ecosystem?

26. XG F 87 AJ9I H WA Xad FU DI G febel &7 02
What is blood? Write the number of WBC in human blood?

27. WBll, WO, TGAT AR AJ9d $ &7 W@a 0] BT M fore? 02
Write the names of main respriatang organs of fish, mosquito, earth warm and
man?

28. ST 1 87 $H &l Y@ 3 T M ford va quiF He? 03

What is Eccreation? Explain the two major organs of is.

29. 399 @ foIg SATRIIGH U &l &l M H el Siig Bl Aed] el oiq el bR dwig &2

03

For resperation taking of oxygen is more benefied organium then asuatie
organism.

30. H9= H WA {31 T A0 N7 05
Explain the mechanism of digestion in human?

3ferar

W™ & A& G dcd bl v N |

Explain the female Reproduction system of human?

Physics Objective

31.
(i) Mefr <dor # wiewiaR vd g Bear & &g 66 R 01
@2f=r (b)f=r € —=r @ f=-

The relation between focal lenght and centre of curvature of a spherical mirror
iS.

@2f=r (b)f=r (©—=r (d)f=-
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(ii) forelt Mm@ QacHId BT A BT B 01
(@) ST UV (b) FHAS YT (c) Sfadel U (d) T W BIg Tal

The value of refractive index of a medium is.

(@) sinr (b)sini (c)sinixsinr (d)sini+sinr
sini sinr
(iii) forg a7 ST o 1 o 1 B B | 01

(@) W= (b) eeHEIeR (c) 3HIeR (d) dlecHicy
The apparatus used to produce electric current is.
(a) Generator (b) Galvanometer  (c) Ammeter (d) Voltmeter

(Vi) S ¥ 5 YR @ aRT W e 2 01
() fo=e arT (b) TATat ©RT (¢) SF IR ()39 & FIg eI

What type of current is obtained from a dynamao.

(a) Direct current (b) Alternating current
(c) Both type of current (d) None of these.
(V) foe afed @1 .1 5@ 2| 01

(@) dree (b) foveitare () 9t (d) Feia
S.lunit of electric power is?
(a) Volt (b) Kilowatt  (c) Joule (d) coulomb

(Vi) foxft T & wRRIEHd o1 A% 27 01
(@ Q (b)Q-  (c)— (d) None of these
The unit of resistivity of conductor is?
(a) Q (b)Q-  (c)— (d)None of these

(Vii) <9 foredt ameier IR 9 R emr wIfIG B & Iferfer @ 2 01
() T (b) ST () AT (d) Feragi

The moving particles in a conductive wire carring electric current is.

(@) Atoms  (b) lon (c) Protons  (d) Electrons
CHEMISTRY
31. (viii) I 1 anfdas g @ 2 | 01

(a) CHsCOOH  (b) CH3CHO (c) CeH1206  (d) C12H22011
What is the molecular formula of sugar?
(a) CHsCOOH (b)) CH3CHO (c) CeH1206  (d) C12H22011
(ix) fRieax mATeTgS T TT HaT BT B | 01
(1) Y (2) It (3) B (4) el
What is the colour of silver lodine.
(@) Yellow  (b) White  (c) Green (d)Blue
(X) forer g & @1 | HICT O FHA & | 01
(1) SfeTH (2) @i (3) dfewm (4) |
Which metal can be cut down by Knife.
(a) Sodium (b) Iron (c) Calcium (d) Gold
(xi) @ @1 enfdaw I @ R 01
(a) CeH1206  (b) CH3COOH (c) CH3CHo  (d) CHCIs
What is the molecular formula of glucose?
(a) CeH1206  (b) CH3COOH (c) CH3CHo  (d) CHCIs
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(xii) vefaer a1fiT @ forw @i @1 I SaRaRl 82 01
(@ Cco, (b)O2 (c) NH3 (d) N2
Which of the following gas is responsible for global warming?
(@ Cco, (b)O2 (c) NH3 (d) N2

(xiii) faem 3ea @1 g fom g &1 97 2 7 01
(1) AT (2) SRS (3) dfaT (4) A
The filament of electric bulb is made up of which element.
(@ lron  (b) Tungsten  (c) Copper (d) Gold

(xiv) COOH forareie #e® @1 Far M B | 01
(1) Freifaafed e Tad (2) Tedleiad qaid (3) fheH Tdd (4) SR Told
What is the name of- COOH functional group.
(a) Carboxydic acid group (b) Alcoholic group (c) Kitone group (d) Ether group

Biology Objective

(XV)vee = o JT # e DY @1 7 fhar? 01
@) 7 (@@ (@) = (@) e
Which plant is selected in mendal experiment.
(@) Pea  (b) Beam (c) Gram (d) All of these

(xvi)ar df3ar PR & T @l T BT BET 27 01
@) a1 () Rifes T (1) T (8)
The two juction of neuron is called.
(a) Dendritis  (b) Synapes (c) Axan (d) Impulse

(xvii)ws forft g & IameRor 22 01
(@) wiar (@) @@ (1) Ssed  (6) T € 9 A
Which of the following has an example of unsexual flower.
(a) Papaya (b) Mustard (c) Chunarose (d) None of these

(xviii)fder & wg 3R TIES B W o TRE D AT 2| 01
(@) TS 3T (@) SR ST (M) WAy 3fT (@) 3 W B T |
Features of Insect and features of bats which type of organ?
(a) Homologous organs (b) Vestigial organs (c) Analeges organs (d) None of these.

(XixX)rTsr & @ o SR Bl @1 forn @ 7 FEd §° 01
(@) WereeE™ (@) W@wad (1) e (89) S
Inspiration of organs and expiration of Coz is called.
(a) Breathing  (b) Respiration  (c) Inspiration (d) Excreation
(XX @t U o 2? 01
(@) @ifter (@) Id6 (1) d=e  (6) 99
Where accures chromosom?
(@) Cell  (b) Tissue (c) Nucleus (d) All of these
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MODEL QUESTION
FOR
MATRIC EXAMINATION -2016 (ANNUAL)
SUBJECT - SCIENCE

SET-V
Physics

1. et o9 @1 TR o dEd? 01
Which lens is known as diversing lens?

2. TTelld SUOT @l Jghal FBrear 10 W 2| SHA BIHIaR qT BN 01
The radius of curvature of a spherical mirror is 10 cm. What will be its focal
length?

3. URNS foa Hifas IR @1 A 87 01
Parsec is unit of which physical quantity ?

4 TqC-UHE T FAGeY I AR BT AW fora? 01
Write down the name of physical quantity equivalent to watt-second.

5. fyd €ex # dR @) el 59 T @ T B 82 01

Coil of an electric heater is made up of which element?
6. el e qUvr gRT %] @ STRA U4 amaiid ufafd e =g avg @ Rerfd @8l 8 aey?
02
What will be the position of an object to form a virtual and magnified image by a
concave mirror ?

7. Fac 3R A 2° 3V R T B for 5w o9 @1 waER A 9 g | 02
What is myopia ? Which lens is used to remove this defect.

8 100 9 & U fIegd 9od @l 250 Alec & fag)d # W el SNl 2 | o8 & YT eRT T A
2| 03
An electric bulb of 100 watt is connected with electric main of 250 volt. Then
what will be the value of current following through this bulb.

9. TR R & gably w1 W W ST sR—eReT & W I ford | 03
Write the “Right hand thumb rule” regarding magnetic effect of current.

10. AT Raex & Rrgld vd & foftr & afe avfe & | 05
State and explain the principle and working of Nuclear reaction with neat
diagram?

Chemistry

1. &R A # fhAlahee Gad & W d9 8 2| 01
What is the colour of phenolphthalian in alkaline medium.

12. Fferied Fiawer &1 Hgferd o | 01

Na+H20 — NaOH+H4
Balance the following equation
Na+H20 — NaOH+H$

13. Todb @l THI G T BIell © | 01
What is the general formula of alkane?
14. BRE Febe I AMIE T AT & | 01

What is the molecular formula of ferric sulphate.
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15.

16.

17.

18.

19.

20.

BRIBRE B SAdeID fa=arT ford | 01
Write down the electronic configuration of Phosphorous.

TAIGIGAT R 2 | $ TP SRRV B A W N | 02
What is Isomerism? clearify it with a suitable example.
amyfre smmad frem @ g ? 02
What is modern perodic law ?
T AT AR H R/ AR E ? 03
What is the difference between Base and Alkali.
frarefiel qord T T | TH SR < | 03
What is Functional group? give an example.

fferiRed @rdfs e &1 w97 ford | 05

(1) TF () @@RRE  (3) wMdsezs  (4) d6iF (5) WIS 3
Write down the structure formula of the following organic compound?
(a) Ethane (b) Chloromethane (c) Formaldehyde (d) Benzene (e) Methanoic acid

Biology

21, YT HLAOT T T fores? 01
Write the chemical equation of Photosynthesis?

22. 39T # vae fHdd gRT B 87 01
In amobia respiration takes place by?

23. TSl IR BV BT TT ot I Bl 27 01
Why the colour of R.B.Cis red.

24. T T BT AR ST AT TR HET ST 27 01
Which gland is called master gland of the gland?

25, foxal # fva waf g 27 01
Where fertilization takes place in female?

26. TS B T M fored? g o $ROT Herehl & | 02
Write the full form of AIDS? And also cause the causal organism.

27. Siq IR U9 3rold Fiaeor ggref # SR We ae? 02
Distinguish between biodegradable and non-biodegradable materials?

28, SIaTed F1 27 SENVT Afed ford | 03
What is fossil? Explain with suitable example.

29. WISH # Urad # HCL & ¥gca &l FHeIa’? 03
Write the important of HCL in digestion of protein.

30. AW B HET TP ed BT AU PR 05
Explain the female reproductive system of Human?

3ferar

T H UTEAHAT BT GO PR

Explain the Mechanism of digestion in Human?

Physics Objective

31.

(i) < o & fore ygam ST B 2 01

(@) ST UV (b) FHAS YT (c) Sfadel U (d) T W DIy TaI
Shaving mirrors are.
(a) convex mirror  (b) Plane mirror (c) Concave mirror (d) None of these

https://www.evidyarthi.in/



(i) Sagw & fou T1 @1 foRor o1 fogem afe 2 2| 01
(@) @@ (b) &1 (c) e (d) T
The deviation of which colours ray is most inspectrum.
(a) Red (b) Green (c) Yellow  (d) violet

(iii) fe@ 999 o9 & forg fom T & € &1 ITAT B 37 01
(@) () dicer (c) T <ie (d) ET & I T
Rod of which of the following substances is used to make electromagnet.
(a) Steel (b) Brass (c) Softiron (d) None of these

(iv) r o gfcRler arel N gfoRIEN B THFIGR %9 # Wed W Jed IR 86| 01
@nr (® -  (© - (d) T 9 I Tl

The equivalent resistance of n resistors each of r ohm connected in parallel
connection will be.

(b) nr (b) — (©) — (d) None of these.

(V) <rg vor & wwa aRuy # fIe arT &1 79 01
(@) FE W & (b) ReR wA ? (c) 98 % & W & (d) RO agerdm &l & |
At the time of short circuit the current in the circuit?
(a) Reduces (b) Does not change (c) Increases heavily (d) Varies continously

(Vi) e fodeT & Fafa o= § wgaa g 27 01
(@) AR F B (b) VId &1 B (c) Dsfam & B (d) TIHTIH BT B

Nuclear fission is controlled by using ?
(@) Ironrod (b) Steel rod (c) Cadmium rod (d) Aluminium rod

(Vii) TARY ameprer T @Y SAPRT A F BT BT B | 01
(@) dreqda (b) gl () Wl (d) Wit
The shape of our milky way from front is.
(a) Elliptical (b) Circular (c) Parabolic (d) Spiral

CHEMISTRY

(Viii) amet 19T % HCLTd HNO, &7 @7 39T &Il & | 01
(@31 (b)1:3 (c)2:2 (d)1:2
What is the ratio of HCl and HNOs in aguareria?
(@31 (b)13 (c)2:2 (d)1:2

(ix)ferft SR °et BT PH fopeT BT 2 | 01
@7 (b 3 () 10 (d)s
What is the PH of Neutral solution
@7 ()3 (c)10 (d)5

(X)>C=0 foareicr qetep o1 T W B | 01
(@) fher (b) Tedled () SR (d) tfeserge
What is the name of the >C=0 functional group.
(a) Ketone  (b) Alcohal (c) Ethen (d)Aldehyde

(xi)ferfoRad wrdfve el & B9 A1 A TewrT 87 01
(a) T (b) M () 3UTSA Tedied (d) FARIHM

Which of the following compound is Alkyne?
(a) Acetylene  (b) Methane (c) Ethayle alcohal (d) chloroform
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(xii)bfowam a1 uwmT] e qar 27 01
@2 ()15 ()17 (d) 18
What is the atomic number of Calcium?
(@20 (b)15 (c)17 (d)18

(xiii)gerse vemlEe @1 o7 G AT 27 01
(@) C2HsOH  (b) CHsOH (c) C2Hes  (d)CH30CH3
What is the molecular formula of ethyl alcohal.
(@) Co2HsOH  (b) CHsOH (c) CoHe  (d)CH30CH3

(Xiv)eel® & w& o % T & A WA @ 9 SR B wE @ g | 01
@2 3 (@1 (d)4

What is the number of bonds in between two carbon atoms in ethene gas.
@2 ()3 @©1 (d4

Biology Objective

(Xv)dreT # wae fFar & ST ADP @ Te W fohal St gad gl 87 01
(®) 30.5kg/mal  (®)305kg/mal () 3.5kg/mal (F) T A FI 7
How much enegy exberates is bucking of down ADP during respiration in plants?
(a) 30.5kg/mal  (b) 305 kg/mal (c) 3.5kg/mal (d) None of these

(xvi)usfar # sffeiiorT @1 Ager 9 a1 Ve 27 01
() OIS 5T (W) YT ATATV () ATEeH  (°) T A DS Tl
How does organ maintain balance in nature.
(a) Combination  (b) Photosysthesis (c) Dicomposition (d) None of these

(XV)ara gea # fooee aIe g 87 01
®2 @8 M1 (M4
How many chambers are there in human heart.
@2 (b)8 ()1 (d)4

(xvii)ama gea # fooae e g € ? 01
(@1 @s (M1 ()4
How many chambers are there in human heart ?
(@1 @®8()1(d)4

(xviii)ges & HamTcHs v fhareie Sa1E B /T wed 27 01
(®) @G () I T (T) gIAIR (F) T
The structure and functional unit of kidney in called?
(a) Glomeralus (b) Bowman'’s capsule (c) Ureter (d) Nephron.

(XiX)7T= & e # oG @1 e faae g 82 01
(@) 23 (¥)46 ()22 (9) 223
How many chromosome in gametes of human.
(@23 (b)46 (c) 22 (d) 22 pair

(XX )z B ywrer HYer S B2 01
(@ o (@) eRddaw (NI (@) G

In which of the following Photosysthetic organules has?
(a) Leaf (b) chloroplast (c) Granna (d) Stroma

https://www.evidyarthi.in/





